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Chapter 1. The Character of Modern Science 

Scientists try to analyse the world as systematic as possible. A main distinction between different sciences is that between alpha-, beta-, and gamma-sciences.

a. What do we mean by analysis?

b. What do we mean by systematic?

c. What is the subject-matter of beta-sciences?

d. Give an example of a systematic analysis in a beta-science? Clarify your answer.

Gamma-sciences are about human behaviour. To analyse it we make a distinction between human beings and non-human beings. Humans are driven by three primary forces, all with a different origin.

a. What is the origin of the social force? Give an example to illustrate what it means.

b. What is the origin of the psychic force? Give an example to illustrate what it means.

c. How do we know of the existence of the forces that drive humans?

(3)

Within economics there is an ongoing controversy between orthodox and heterodox economics.

a. What do we mean by orthodox economics?

b. What do we mean by heterodox economics? Illustrate the difference between the orthodoxy and the heterodoxy by means of a practical example.

c. What do we mean by mainstream economics? Give an example of a typical mainstream economic theory.

(4)

Systematic analysis can be based on the assumption that the universe is layered. In other words, we can imagine the existence of many levels on which phenomena manifest themselves – from the level of the subatomic particle to the level of a set of solar systems, for instance. Different methodologies can be distinguished now.

a. What do economists mean by a micro-orientated methodology? Clarify your answer and give an example.

b. What do economists mean by a macro-orientated methodology? Clarify your answer and give an example.

c. What do economists mean by a meso-orientated or institutionalist methodology? Clarify your answer and give an example.

(5)

The process of production of knowledge consists of several stages. We can distinguish between paradigm (P), analysis (A), theory (T) and hypothesis (H) in this respect. 

a. What do we mean by a paradigm? Formulate the paradigm of orthodox economics.

b. How do orthodox economists derive an analysis from their paradigm?

c. Formulate a theory on the basis of a typical economic analysis.

d. Give an example of a typical economic hypothesis.

(6)

In ‘philosophy of science’ (or methodology in the broad sense of the word) the character of science is analysed. A distinction is made between ontology, epistemology and methodology in the narrow sense of the word.

a. What do we mean by ontology? Give an example that illustrates the meaning of the concept.

b. What do we mean by epistemology? Which debate dominated the period of the Enlightenment in this respect?

Chapter 2. Genesis and Development of Economics as a Social Science 
 (1)

Moral philosophy is about human nature and its consequences for societal order. It provides social scientists with ideas on the basis of which ideal-typical structures of societies can be constructed.

a. Give three examples of ideas that appear important in this respect.

b. Explain in which way these ideas can be transformed into ideal-typical societal structures.

(2)

Classical Political Economy aims at an analysis of the capitalist system as it functioned in the Western world of the 18th and 19th century.

a. Mention two methodologically important differences between the analysis by Smith and the analysis by Marx.

(3)

Neoclassical economics criticised the methodology of the Classical Political Economy. According to the neo-classicists science must develop universal laws, like physicists are doing.

a. Which strategy did they propose to discover these universal laws?

b. Which societal structure leads to a maximum of efficiency according to the neo-classicists?

(4)

Institutionalists opposed to the typical economic approach of the neoclassical economists.

a. What is their methodological critique of neoclassical economics?

b. Which alternative do they offer? Explain.

(5)

Classical sociology places the economy in the context of society as a whole. The economy is one among several main institutions that constitute society.

a. Mention four main institutions and discuss the function of each institution in the whole of society.

b. Characterise this approach in terms of ontology and methodology, and clarify your answer.

(6)

Marx analyses the capitalist system in terms of class conflict. Capitalists accumulate and concentrate capital.

a. What is the effect on the wage rate and on the employment level? Clarify your answer.

b. What is the reaction of the workers? Clarify your answer.

(7)

Durkheim analyses society in terms of a historical process of differentiation.

a. What do we mean with ‘differentiation’?

b. Which problem must be solved to prevent society from falling apart? Explain.

c. Which societal structure may be able to prevent this falling apart?

(8)

According to Weber the historical trend is characterised by rationalisation.

a. What did he mean by ‘rationalisation’?

Weber explained the unprecedented process of economic growth in the 16th and 17th century by referring to the increasing number of Protestants.

b. Clarify this relationship.

c.  Explain why the process of rationalisation does not conflict with a primary role for religion in the typical Weberian approach.

(9)

If we want to understand human behaviour, we must understand the way humans understand the world.

a. Explain what the sentence in the stem means, and illustrate your explication by means of an example.

(10)

According to the American Sociological Association Talcott Parsons is the greatest social scientist of the 20th century. He constructed an effective tool of analysis: the universe as a system of subsystems and aspect-systems.

a. What is meant by the concepts ‘subsystem’ and ‘aspect-system’?

b. Which are the four aspect-systems as distinguished by Parsons? Clarify their function in the whole of the system.

(11)

The Thirties of the 20th century is characterised by a great depression. Neoclassical economics had difficulties in understanding this phenomenon. Keynes offered an alternative analysis of late capitalism. 

a. Why is a free market economy an unstable system according to Keynes?

b. What is a typical Keynesian policy advice in case of a deep depression? Clarify your answer.

(12)

In the real world economic, social and political processes inter-act. The history of the period 1919-1939 shows this interaction clearly.

a. Give an example of an interaction between economic and social processes in that period.

b. Give an example of an interaction between economic and political processes in that period.

c. Did Europe learn lessons from the experiences of the history of the period 1919-1939? Clarify your answer.

(13)

West European countries established a corporatist structure of consultation in order to keep social peace. These consultations led to the construction of a welfare state.

a. What is meant by a corporatist structure? Give a sketch of a particular structure as a matter of illustration.

b. Which principles are expressions of the idea of a welfare state? 

c. Give three examples of subsystems that are part of the welfare state system. Clarify your answer.

(14)

The lessons that Post war Europe drew from its recent history culminated in an institutional structure of its economies and societies that is supposed to promote economic growth most efficiently.

a. Mention three elements of this structure. Clarify why these elements belong to a consistent whole.

Chapter 3. Multidisciplinary Economics, an Introduction 
(1)

In the ecological approach, in contrast to the economic approach, humans are beings among other beings. In the economic approach, however, other-than-human individual elements are just things.

a. Explain this difference.

b. Give three examples of beings, not things, in the ecological approach.

(2)

The nature of the universe can be characterised by a few principles. One of them is the principle of homeostasis.

a. Explain this principle.

b. Explain what it means for a system to be in equilibrium.

c. Give two examples of the functioning of this principle from social science.

(3)

The nature of the universe can be characterised by a few principles. One of them is the principle of entropy.

a. Explain this principle.

b. Explicate a necessary consequence of this principle if we assume that every system to has a drive to survive.

c. Give two examples of the functioning of this principle from social science.

(4)

Modern science tries to get control of the universe. Therefore it systematically analyses its functioning. On the basis of knowledge about its functioning, ‘politicians’ intervene to improve their situation.

a. Interpret the concept of technological progress in terms of the systems approach.

b. Give two examples to illustrate this interpretation.

(5)

According to orthodox economic analysis consumer behaviour is subject to the law of demand.

a. Formulate this law, and give an example as a matter of illustration.

b. From which other laws is this law of demand logically deducted? Explain both laws.

(6)

According to orthodox economic analysis producer behaviour is subject to the law of supply.

a. Formulate this law, and give an example as a matter of illustration.

b. From which other law is this law of supply logically deducted? Explain this other law.

(7)

The market is the meeting point of supply and demand. 

a. Under which conditions does a market lead to an optimal allocation of resources?

b. What do we mean by ‘general equilibrium’?

c. Can prices in the economic world as analysed by orthodox economists be unfair? Explicate your answer.

(8)

The economic world of orthodox economics consists of many free and perfectly competitive markets. In more sophisticated pictures of this world the incidence of public goods and of externalities is taken into account. But in the simple version these incidences do not occur.

a. Mention 8 assumptions that are made when constructing this simple economic world. Clarify each of them.

(9)

Perfect competition is a theoretical construction. In the real world competition is never perfect. 

a. Describe three ways in which marketing tries to make competition less perfect.

b. Describe the way in which firms try to diminish competition by means of large R&D budgets.

(10)

As we know all economic activity takes space. 

a. Clarify why there is a tendency towards clustering of economic activities, making space to a scarce good in the urbanised areas.

(11)

As we know all economic activity takes time. At a particular moment we have satisfied our needs completely and are in equilibrium. Alas, after a short period of time we are out of equilibrium, and every thing starts anew.

a. Interpret human life as a learning process, and clarify why not every learning result is necessarily an improvement.

(12)

In the economic world there is a perfectly operating government who is perfectly protecting private property rights. 

a. What makes government systems to imperfectly operating systems? 

b. Describe typical reactions of citizens to imperfectly operating governments?

(13) 

In the real world governments are never perfectly legitimised by the people. Moreover, government agencies always serve their own interests to a certain extent.

a. Give two examples of behaviour of citizens who do not recognise the government as the authority who is legitimised to set rules. Clarify your answer.

b. Give two examples of government agencies who definitely serve their own interests, rather than the interests of the people for whom they are responsible.

(14)

When analysing the human mind we make a distinction between the ‘I’ of a person and his ‘self’. Moreover, we make a distinction between the actual self and the true self. 

a. Give an interpretation of the meaning of the three concepts mentioned in the stem.

b. When conceptualising ‘will-power’, what is its function?

c. Explain the meaning of the concept ‘imperfectly rational’ by means of the four concepts used so far.

(15)

Now we relax the axiom of the a-sociality of the relationships between human beings as pictured in the economic world. So people group together, and they rank the groups in terms of status.

a. What is the character of the social relationship within groups? Give an example as a matter of illustration.

b. What is the character of the social relationship between groups? Give an example as a matter of illustration.

c. Under which type of constraint do people strive for a maximisation of status? Clarify your answer and give an example as a matter of illustration.

Chapter 4. Sociology for Economists 
(1)

There is a marked difference in methodology between orthodox and heterodox economics; so with macro sociology and micro sociology.

a. Explain why heterodox economics can profit from the insights of macro sociology.

b. Explain why orthodox economics can profit from the insights of micro sociology.

c. Explain the essence of the micro view or methodological individualism, and give an example as a matter of illustration.

d. Explain the essence of the macro view or methodological collectivism, and give an example as a matter of illustration.

e. Explain why methodological collectivism is necessarily of a historical character.

(2)

Humans cannot observe things without a framework of interpretation. We must have an idea of the essence of things; otherwise we don’t understand the impressions we receive through our senses.

a. Explain what the text in the stem means, and give two examples as a matter of illustration.

b. What makes the phenomenon ‘understanding’ so important?

c. Give an example of a practical situation that can be interpreted in at least two ways.

(3)

Functionalism interprets society as an organism.

a. Discuss the function of four principal ‘organs’ of society.

b. In which way do organs ‘communicate’ with each other in a well functioning society?

c. Give an example of a severe societal problem, and show how it can be solved through communication between different organs.

(4)

The conflict approach explains societal change dialectically. Technological progress makes a permanent conflict between conservative and progressive interests manifest.

a. Describe the way in which conservative interests in feudal societies were challenged.

b. Explain the way in which the dialectical mechanism is responsible for societal change. 

c. Give an example of a typical conflict in a capitalist society; explain the conflict.

(5)

Macro sociology can only describe but not explain why the historical trends are as they are.

a. Clarify the statement of the stem.

b. Give an example of an important ‘movement’ that illustrates the role of individuals, operating in relatively small groups.

(6)

Homans has formulated one of the most important laws in micro sociology.

a. Formulate this law.

b. Give two examples of processes that reflect his idea, and explain why these examples illustrate the law.

(7)

Orthodox economics is an analysis that models the so-called economic force. We can imagine a similar analysis of the social force made by micro sociologists.

a. In which direction does the social force drive us? In other words, what is the goal to be achieved?

b. What is the main restriction that limits us in reaching this goal?

c. Give an example of a restriction as meant under (b).

(8)

In the exchange approach every action, also social action, is interpreted as a transaction. Every transaction is based on a cost/benefit analysis.

a. Give two examples of very different actions that can be approached by means of a cost/benefit analysis; specify particular costs and benefits that you can imagine to play an important role.

(9)

Rational choice in sociology is an approach that looks very similar to the rational choice approach in economics. 

a. What are the basic axioms that constitute the world that is analysed by the sociological rational choice?

b. In which respect do the two approaches differ from each other?

c. Give an example that illustrates how social processes can solve problems that exist in PD-situations.

(10)

Networks can be interpreted economically as well as sociologically. In economic sociology economic networks are supposed to have weak ties, whereas social networks are supposed to have strong ties.

a. Explain the economic interpretation of a weak tie and give an example.

b. Explain the sociological interpretation of a strong tie and give an example.

c. How can we interpret the concept of social capital in this respect? 
Answers
Chapter1: The Character of Modern Science

(1)

a. Analysis = ‘make a distinction between’.

b. Systematic = phenomena are interpreted as a system; a system is a set of interrelated elements.

c. Subject-matter of beta-sciences = non-human behaviour;

d. Systematic analysis in a beta-science: anorganic versus organic chemistry; atoms versus molecules; atoms versus subatomic particles, mechanic versus organic, etc. All elements of systems are to be considered as systems themselves. 

(2)

a. Origin of the social force = if a human meets another person, he or she is inclined to compare him- or herself with the other in terms of status. A lack of status creates a tension. This tension can be reduced by striving for more status of the person in the eyes of relevant others. Example: members of ‘professional education’ institutions consider themselves as inferior to members of ‘academic education’ institutions. This drives them to minimise the difference in status as much as possible, by imitating behaviour for instance.

b. Origin of the psychic force = if the ‘I’ of a person meets his actual self, he is inclined to compare this actual self with his true self in terms of status. A lack of status of the actual self in the eyes of the true self creates a tension. This tension can be reduced by striving for more status of the actual self in the eyes of the true self. Example: the ‘I’ knows that the person, under the influence of the actual self, drinks too much alcohol.

c. By introspection of the mind, being the location of our awareness of our thoughts and feelings. If people are confronted with the idea of the three primary forces, they can experience them.

(3)

a. Orthodox economics = the economics of the so-called economic world; basic axioms that constitute this world: actors are economic, rational and a-social.

b. Heterodox economics = the economic world is unrealistic, and therefore it makes no sense. Economists must develop analyses of real life economies.

c. Mainstream economics = orthodox economics that includes ad hoc variables borrowed from other sciences, to make the hypothesis to be empirically tested more realistic. Example: orthodox economic wage theory states: the wage level reacts to the existence of excess demand or excess supply. When applied to a country with a system of collective bargaining, many mainstream economists take union membership rates as a proxy for union strength, and add this variable to the equation to be tested. 
(4)

a. Micro-orientated methodology = all phenomena, on whichever level of analysis, must be explained by referring to phenomena on the lowest level possible. In economics the lowest level possible is the level of the individual. Example: if we want to explain inflation in a particular economy we must try to explain why individual firms are increasing the prices of their products.

b. Macro-orientated methodology = all phenomena, on whichever level of analysis, must be explained by referring to phenomena on the highest level possible. In economics the highest level possible is the level of the global economy. (In sociology: the global society). Example: a French truck driver decides to participate in a strike that is declared by the unions. A macro approach explains this decision by referring to a typical French cultural characteristic – French culture says: regularly workers ought to show the employers their strength. French truck drivers are social beings and member of the French working class; so: when a union declares a strike, we ought to and we like to participate.

c. Meso- or institutionalist methodology = all phenomena, on whatever level of analysis, must be explained by referring to phenomena on the most stable level. This can be the level of the family, or a local market, a branche, occupational associations, or union movement, or the national clerical organisation. Example: the performance of the Dutch economy can be explained by referring to the moderate policies of the union movement, making the Dutch system of industrial relations to one of the most efficient systems in the world. [Just meant as an illustration; not necessarily true]

(5)

a. Paradigm = a statement about the nature of the situation to be analysed. Orthodox economic paradigm: the world consists of economic, rational and a-social actors and of scarce resources.

b. Analysis of an orthodox economic kind: the drive to reduce scarcity by means of the use of resources leads to the demand for and the supply of goods and services. Demand meets supply on the market. Prices are determined by the market situation, etc.

c. The nominal rate of interest reacts to an excess demand on the capital market.

d. The global rate of interest has increased over the period 2001 – 2005, because of restrictive monetary political actions by the FED (Federal Reserve System – USA).

(6)

a. Ontology is about the question of what must be considered as ‘real’; about what ‘exists’. Some people say: society exists; other people say: there is no such thing as society. Some people say: human beings are economic beings, while other people stress the ‘fact’ that human beings are social beings. Economic naturalists state that the orthodox economic world is a realistic picture of Western real life economies. Implicitly they state that social relationships in real life economies do not exist – this is a typical ontological statement.

b. Epistemology is about the question of what is the primary source of knowledge – how do we know what is true? In the period of the Enlightenment there was an ongoing debate between rationalists who stated that the human ratio is the primary source of knowledge and the empiricists who stated that the senses are the primary source of knowledge (sense-impressions acquired from seeing, hearing, touching, smelling, and tasting).

Chapter 2: Genesis and development of economics as a science 

(1)

a and b. The conservative idea of natural inequality; it makes a hierarchical order necessary. The mass of the people is not able to give meaning to their lives themselves. They must be offered a structure by the elite, who is setting an example. The socialist idea of human equality; structural inequality is a barrier to a well functioning societal structure. An ongoing conflict is the result. As soon as societal structure reflects human equality the conflict ends. The liberal idea of individual freedom; it makes a free market society to an efficient order.

(2)

The analysis by Smith is micro and it uses a kind of economic man. In other words, it starts with a theory of the behaviour of an individual. It thereby assumes that man is an economic actor, who is more or less rational. The analysis by Marx is macro and, implicitly, it uses a kind of social man. In other words, it starts with an analysis of the economy as a whole. It thereby assumes that individuals are members of a class, and act accordingly. 

(3)

a. Neoclassical economists use the analysis as developed by orthodox economists. They developed the idea of an economic world. In this world the operation of the economic force is isolated from the operation of the other forces that drive people. By analysing the economic world stable relationships are discovered that always hold in this world. These are the universal laws that must be discovered.

b. Since individual actors are not only economic, but also rational they must be free to serve their own interest. A society that consists of individuals who freely trade with each other is called a free market society; it leads to a maximally efficient allocation of scarce resources.   
(4)

a. The constructed economic world is not realistic. There are no universal laws; human nature is not a constant – the forces that drive humans are dependent on the stage of development of society as a whole. Therefore it makes no sense to apply it to the real world. It is not even a model that can function as an ideal world to aim at.

b. Institutionalist alternative: there are historical trends, such as rationalisation, and differentiation. Technological progress is the source of all change – change in economic, social and political organisation. This change takes place under the pressure of ongoing conflicts between established and progressive interests.

(5)

Family: reproduction of the population and the socialisation of the new generation. Economy: production of the means necessary for a decent living; Government: control over the whole of society; Religion: production of meaning.

b. Ontology: humans are social beings; during their childhood they are socialised; as adults they play their roles as group members well. Methodology: macro-orientation. The level of explanation is the society as a whole. Behaviour of individuals and small groups are determined by the stage of development of society as a whole.

(6)

a. Marx: the wage rate is a constant, and on the minimum level of subsistence. There is structural unemployment. Over time the rate of unemployment increases because of a structural decline in the level of employment.

b. Reaction of the workers: they become increasingly aware that they are member of the working class; so workers have to serve their class interest. This interest implies the necessity of becoming united in one large union movement. As soon as they are powerful enough to take over the economy they must declare a revolution.

(7)

a. Differentiation: a process of ongoing specialisation. Especially when a population becomes increasingly educated, there are a huge number of possibilities to specialise and therefore to differentiate from others.

b. Specialisation may lead to disintegration. In case of disintegration people do not accept each other in the roles they play in society. Role means: generally expected set of tasks that aims at the fulfilment of a particular function in society.

c. When all specialisations become well organised in professional associations, representatives of these organisations can consult each other about the tasks and functions that belong to the different groups. These consultations also discuss authorities and the rewards that belong to particular functions. This structure of consultation is called a corporatist structure. According to Durkheim and other functionalists this structure has the potential to reach consensus about the strategy of society as a whole and the way societal structure is specified on all relevant levels.

(8)

a. Rationalisation = technical, economic, social, psychic, political processes are increasingly analysed in a rational way. It leads to increasing understanding of these processes. The knowledge that results can be used to increasingly master these processes to the advantage of humankind.

b. Protestants developed a world view that states that men are stewards of the universe. They must take care of their selves and of each other; if we work hard, save and invest, God will bless them. This ethics led to much risky initiative, also in the economy, especially in the 16th and 17th century.

c. Weber made a distinction between instrumental rationality and value-rationality. The first concept is the kind of rationality that belongs to the so-called economic world. The second belongs to the social world as imagined by Weber. Human beings develop a world view including a set of values and norms, and act upon the basis of this view. According to the Protestant view people are responsible for their selves. Other religions have different views, but the values can be maintained in a rational way. Therefore the two concepts of rationality do not contradict.

(9)

One way of explaining human behaviour is to understand it. We say we understand behaviour if we know the reason behind it. To find out the reason we look for the world view of the persons whose behaviour must be explained. The world view tells us which ‘map’ people use, and which goals they aim at. Example: a union declares a strike. Although the employer offers a large wage increase the union does not give in and claims an extraordinary increase. To understand this behaviour we search for the world view of the union. It appears to be a socialist union. The aim of the union appears to bring the revolution closer. Therefore long and tough strikes are supposed to be efficient means to commit people to this goal. 

(10)

a. A system is a set of interrelated elements. A subsystem is a subset of this system. An aspect-system of this system has the same set of elements, but the interrelationships are about just one aspect of the main system.

b. Four aspect-systems of Parsons: the economic aspect, which is about the delivery of scarce resources, the amount of which must be enough to keep the system integrated (1), the social aspect, which is about the (hierarchical) ranking of the elements, which must be generally accepted to keep the system integrated (2), the psychic system, which is about the necessity of every system to have a goal; so with the human personality system (3), the political system, which is about the control aspect; every system needs a control centre, so as to adjust if things are not going as expected (4).

(11)

a. In times of uncertainty investors cannot be rational. An almost complete lack of information about the near future makes it impossible for them to calculate reliably expected returns. Therefore they must fall back on their animal spirits – some are optimistic and invest. Others are pessimistic and do not invest and wait! In a deep depression many investors wait, and keep their money in their pockets or pay back their loans.

b. In a deep depression the government must increase its expenditures so as to stimulate effective demand. This will lead to a higher level of production and employment.

(12)

a. After the First World War the Germans had to pay large sums of rehabilitation to the Allies. The German government tried to solve this problem by printing much money to finance their own recovery. The inflation that was the result ruined the middle class. This created strong resentments among this class towards France and other countries, stimulating rivalry. (Economic process affects social process). 

b. Economic process affects political process. The Great Depression impoverished many people, driving them towards more radical political parties: radical conservative parties for the middle and higher class, and socialist parties for the lower classes.

c. The EU is based on the idea: never rivalry between European countries anymore. The construction of a welfare state is based on the idea: all citizens must participate, socially, economically and politically. So far the West European countries are quite successful, making the area attractive for other people.

(13)

a. A corporatist structure is a structure of consultation between a large number of organisations that represent occupational and professional associations. Example: The Dutch corporatist structure is ‘headed’ by the Social Economic council. The Council consists of 15 independent advisors, who are supposed to serve the general interest, 15 representatives of the most important employers’ organisations, and 15 representatives of the most important trade unions. All the organisations of employers and employees are present on different levels of society: central level, sector level, firm level.

b. Idea behind the welfare state: equal participation for all citizens. Economically: full employment policy, income equalisation policies. Socially: consultation platforms in firms, sectors, central, etc. Also: no discrimination, for instance equal pay for women; Access to important institutions such as education and health care for all people. Politically: general suffrage  

c. The welfare system; system of public health care; system of public education.

(14)

a. Political democracy: every citizen has the right to vote (1). Competitive markets: every one has the right to start a business and compete on free markets (2). Corporatist structure: offering every person that has a position in the economy the opportunity to participate in the process of decision making (3). These three elements are consistent since they all are based on the idea of equality – equality in the sense of: every person counts. The institutional structure searches for harmony between the freedom of the individual and an equal distribution of resources so as to make it possible for all people to use their freedom adequately. 

Chapter 3: Multidisciplinary Economics, an Introduction

(1)

a. In the economic approach only humans are beings – that is, things or elements that are inspired; having body and having mind. Other-than-human beings do not exist. In the ecological approach not only humans are beings with a right to exist. There are other-than-humans who must be considered as beings; they may have a right-to-exist in their own as well.

b. Animals, plants, landscapes (not urbanised).

(2)

a. Homeostasis refers to a mechanism that regulates the adjustment of systems to changes in their environment.

b. A system is in equilibrium if a particular substance has reached its optimal composition.

c. Example: a family system in the context of the Dutch economy. The decisions taken by the family are influenced by the characteristics of the Dutch economy. Suppose that the wage level changes, the family must consider an adjustment; for instance: the wife is going to search for a job in the economy (1). Another example: a firm has a Board that consists of an economist and three lawyers. Because of technological process the production process becomes more technical. Because of these developments the firm must adjust, by hiring one or several engineers for a position in the Board.

(3)

a. Entropy refers to the inherent tendency towards dissipation of useful energy. 

b. If we assume a force inside every system that motivates to survival, maintenance of the system is a necessity; otherwise the system disintegrates.

c. A firm can be considered as a group in the social sense of the word. It means that positive social relationships between the employees are a valuable asset. To maintain the value of this asset the Board must invest in these relationships: regular meetings, and trips, and events. A second example: an assembly line in a factory that produces motor-cars. Regular maintenance is a necessity to keep the system well functioning.

(4)

a. Everything is interpreted as a system. A system functions well if its composition of elements is optimal. However, we have very imperfect knowledge of all the systems that constitute the universe. So we intervene into the systems in an imperfect way. Technological progress means an increasing knowledge of what is the optimal composition of the universe of which the human system is a relevant part.

b. We can make a distinction between the economy as a system and the polity as a system. At a particular moment politicians consider the economy as suboptimal, and decide to intervene. They expect an increase in the money supply to lead to an increase in the level of production and employment. This will bring the economy closer to its optimum – at least this is what the intervening politicians expect. A second example: Fleming discovered that penicillin had a strong effect on the human body in case of particular illnesses. So, injections of this fluid apparently take the body closer to its optimal composition.

(5)

a. The law of demand states that price changes affect the quantity demanded negatively. So, if the price of a computer decreases, the quantity demanded will increase.

b. The first law is the law of decreasing marginal utility. It states that the higher the volume of consumption of a particular good, the lower the increase of utility that is derived from the consumption of the last unit. The second law is the law of rational spending. It states that the consumer is in equilibrium – which means that he has reached its optimal position – as soon as the marginal utilities are equal in all directions of spending. 

(6)

a. The law of supply states that a change in the price of a particular good has a positive effect on the quantity supplied of that good. For example, if the price of houses increases, the number of houses that will be supplied increases as well.

b. The law of supply is based on the law of decreasing marginal returns. The last mentioned law states that the higher the input of one production factor, given the volume of the other production factors, the smaller the increase of output that results from the last unit of variable input.

(7)

a. If the market structure is characterised by perfect competition and the market is in equilibrium, the resources are allocated optimally. It means that a maximum of efficiency has been reached.

b. General equilibrium means that all markets are in equilibrium. So the economy as a whole is in equilibrium.

c. Prices can be set in a way that creates inefficiencies. But the term ‘fairness’ has to do with social relationships: we must assume the existence of a set of moral rules, in order to be able to give a judgment in terms of morally good (fair) or morally bad (unfair).

(8)

The 8 assumptions are: many demanders and many suppliers; so nobody has market power (1), all market participants are perfectly informed about the price and quality of all the goods that are supplied, and of the own needs that must be satisfied by buying these goods; marketing battles are superfluous since everyone knows everything already (2), the goods that are supplied in a particular market are homogeneous; so goods that are technically the same, are perceived by potential buyers as being of the same quality (3), there is free entry and free exit in all markets; so there are no market barriers that could mean market power for the insiders (4), all firms are one-man’s businesses, which means that all contracts are perfectly specified; no hierarchical relationships, in which bosses can command their subordinates to act in ways that are not perfectly known by the subordinates (5), no time involved in the analysis; the analysis is completely static. So there are no processes of considering a purchase, the purchase, the consumption, the evaluation of the consumption, etc. It all takes place at one moment. Since market participants are perfectly informed, they do not make mistakes and do not regret their actions. Therefore, they do not change their preferences (6). There is no space involved in the analysis; every action takes place at one point; this assumption aims at disregarding problems of scarcity of space that results from the clustering of activities. If we would take space into account, there is hardly any competitive goods market, since transportation costs would differ among the various producers (7). Analyses of markets and market structures are implicitly assuming that there is a government that is able to perfectly protect private property rights; imperfect protection would mean that private persons as well as government agencies can steal from each other. If people take the chance of robbery into account it would mean that all sorts of otherwise profitable deals cannot be realised (8).

(9)

a. Marketing tries to make buyers addicted to the consumption of a particular product (1), marketing tries to suggest that the consumption of a good enhances the (social) status of the buyer (2), marketing tries to inform the potential buyer about the qualities of the good, so as to make it easier to make an economically wise decision (3).

b. R&D departments hope to come up with innovations with respect to the product as well as with respect to the production process. A higher budget for this department will lead to more innovation, which may lead to higher productivity and lower prices on the one hand, and to more heterogeneity and more niches in the market on the other hand. Less competition is the result of product innovation.

(10)

a. Although activities take space and people are inclined to spread over a particular area – they prefer more space to less – they are also inclined to cluster together so as to minimise the costs of bridging the space gaps that exists in case of strong diffusion. Economic transactions make it necessary for people to regularly communicate with each other and for goods to be close to each other and to be close to the buyer, to minimise transportation costs.

(11)

a. Activities take time. In case of perfect information (including perfect foresight) it does not really matter whether activities take more or take less time. Less time means a lower level of costs. In case of imperfect information, however, we can make mistakes and learn from it. Because time really exists and our systems are subject to the phenomenon of time, we must keep on going with our activities of maintenance and renewal of our systems. Technological progress results from an ever ongoing increase in human experience.

We can learn from our experiences. But we are also able to draw lessons from history that may be wrong lessons. Then we accept solutions to particular problems that appear to be bad solutions in the very far future. Basically we don’t know whether the solutions accepted are good solutions, or better solutions than the solutions we accepted in the past. This uncertainty is an essential element of the belief that it makes sense to continue with the search for improvement.

(12)

a. Lack of knowledge with respect to the functioning of other systems. Moreover, elements of the government system may serve the own interests rather than the interests of the citizens, which are served by well functioning government systems.

b. If a government system functions badly, citizens will try to influence the government system so as to get it better, and they may try to escape from its influence by tax evasion and by disregarding rules that are set by this government.

(13)

 a. Examples: guerrillas and terrorists; Liberally-orientated people under socialist government who try to evade taxes; farmers that refuse to pay taxes to a corporatist body; people who occupy a piece of forest to prevent the government from cutting trees before their complaints are processed by the judicial system.

b. Examples: the Russian secret service is killing people who promote more democracy; The Dutch Ministry of Defence threatens to kill a person who blew the whistle by making public that particular weapons were very dangerous for the users; University officials who are making interesting trips to other universities in exotic countries.

(14)

a. The ‘I’ can be regarded as a decision making centre. The ‘true self’ is an entity with characteristics that must be regarded as the true characteristics of the person. It refers to the true identity of a person – the long term consistent self, for which the person is willing to take full responsibility. The ‘actual self’ is a bundle of sub-selves. A sub-self is a strong emotion, connected to a strong need that claims immediate satisfaction.

b. The function of will power is the control of the sub-selves.

c. Imperfect rationality means an imperfect control by the ‘I’, by means of the will power, of the actual self. Perfect rationality means perfect control of the actual self. Then behaviour is completely determined by the true self. So the actual self is equal to the true self because of the complete control of all the sub-selves.

(15)

a. Solidarity; a group is characterised by its common understanding of the world, including the values and norms that belong to this world view. Solidarity means that people perceive each other as ‘belonging to the same group’, as opposed to other humans who are perceived as ‘belong to a rivalling group’. If a member of the own group is threatened, other members of that group support the threatened member in their defence.

b. Rivalry; people who are member of different groups are rivals of each other. In many ways they try to convince each other of each other’s status. It is quite rational for groups of people who live close to each other to develop rules to minimise the damage that results from the ongoing status battles. Since these groups are convinced of the fact that obeying these rules is a common interest, these rules get a moral character: one ought to obey the rules. In this way morality dampens human rivalry.

Chapter 4: Some Basic Sociology for Economists 

(1)
a. Heterodox economics studies real life economies, and recognize that economies operate in a societal context. Macro sociology analyses this context. Bringing together these two fields makes it possible to study the interactions between economy and society.

b. Orthodox economics studies the behaviour of an individual. It abstracts from the social context in which individuals operate. It is about Jon and Maria who are worker or capitalist. It is not about the father and the mother, about black and white people, about Muslims versus non-Muslims. Micro sociology, however, studies the emergence of culture when a small number of people who perceive each other as equals meet each other regularly. Small groups can grow out to large groups and their culture can press non-members to become members. Orthodox economists can learn from the micro sociologists that life has a social aspect too.

c. The essence of the micro view or methodological individualism = economic and social phenomena must be explained by referring to the constant human nature – economics says that individuals are driven by an economic force; sociology is saying that individuals are driven by a social force. When individuals discover that their circumstances have changed, the economic or social force drives them to change their behaviour. For instance, a change in the price of computers is followed by a change in the quantity of computers that is sold. Why? Because of the operation of the economic force! An example showing the operation of the social force: an increasing number of members of the own group is buying an Apple computer rather than a different brand. The opinion leaders of the group constantly talk about the superiority of the Apple! For other members it becomes increasingly important to also buy an Apple computer now. The social force drives them to really buy the Apple.

d. The essence of the macro view or methodological collectivism = economic and social phenomena must be explained by referring to ‘the situation of the collectivity’. If the collectivity is prosperous and economic growth rates are high, the situation of small groups and individuals is favourable. It stimulates people to search for a job, and since the chance of finding an interesting job is large, many people become richer. So someone’s richness must primarily be explained by his ‘situation’, more than by his personal characteristics.

e. The situation of the collectivity determines the position of small groups and individuals. Change of their position must be explained by a change in the situation of the collectivity. In other words, historical evolution of societies is the prime mover and explains changes in the behaviour of people, on whatever level: society, institutions, small groups, individuals.

(2)

a. Our ratio structures sense-impressions in such a way that we can understand them – we observe! The structure as given by the ratio makes, for instance, a distinction between essence or substance on the one hand, and (empirical) property on the other. If we observe an object we can only come to the conclusion that the object is, for instance, a tree if we first have defined what a tree is. Only then we can observe trees, and discover that there are many sorts of trees – in other words, they all have their empirical properties, which can differ significantly from each other. The same holds for the infinite number of other objects: computers, humans, girls, white people, rats, etc. We must know what the definition is, and then we can establish empirical properties.

b. Understanding triggers emotion and emotion (motivation) leads to action. In other words, if we do not understand our situation, we are inclined to remain passive or react in an irrational way.

c. When the Soviet Union broke down the Russian government tried to restructure Russian society. It led to a significant increase of inequality. When interpreted from an orthodox economic point of view this development is a good thing – during the previous period prices did not reflect natural scarcities of the different goods. When firms become exposed to free markets they must restructure in order to survive. This creates unemployment and poverty for many people, but this is just temporary. After a while the successful parts start to grow and other parts, including the unemployed poor will profit from it. From a sociological conflict view the Russian transition creates a new conflict; a conflict between the new elite who is filthy rich and takes the important decisions in the economy – not to serve the general interest, but just their own capitalist interests. The central planning economy did not function well in the period just before the break down. But there are plenty of possibilities to improve the operation of that system. The economically and socially beneficial characteristics of a planning economy – equality between people – must not be sacrificed and be exchanged for the richness of a few people.

[In the lecture the teacher gave the example of South African Apartheid, which was interpreted in very different ways]
(3)

a. The family has the function of ‘producing’ the new generation and getting the new people socialised. The economy has the function to produce scarce resources as efficiently as possible. The government has the function to control the different processes so as to guarantee law and order in the most general sense of the word. Education has the function to educate, skill and train people in such a way that they can function well in other institutions that constitute society. Religion has the function to produce meaning; if people are able to attach meaning to particular life styles, they are able to formulate well articulated goals; this prevents persons and groups, as well as society at large, from falling apart.

b. The organs are the institutions that constitute society. Under part (a) they are discussed already. When each institution is well organised, it has its representatives. When different institutions must coordinate their actions, the representatives of the relevant institutions must consult each other and search for consensus with respect to the coordination of the different tasks.

c. There is a large group of disabled persons who cannot find a job and depend on a social benefit that is not high. Now the institutions of government (level of the benefit), the economy (jobs), education (retraining) and health care (rate of disability) must come together and develop policies that must lead to a significant reduction of the number of persons that are disabled and unemployed.

(4)

(a): Feudal society: feudals (landowners) ruled society; landless peasants did the production and were allowed to keep part of the produce. The landowners were responsible for the safety of the peasants and their families. Especially the landowners had an interest in ‘conserving’ this situation. They were, because of technological progress, increasingly challenged by upcoming traders (transport technologies) and factory-owners (production technologies). The nobility had to give these progressive groups more room because of their increasing (economic and social) power.

(b): dialectical mechanism: the conflict between landowners/exploiters and landless peasants, who were exploited was overcome by the upcoming challengers, in this case the traders and manufacturers.  More generally: the thesis versus the anti-thesis conflict is overcome by the synthesis presented by the progressive people.

(c) The capitalist society is characterised by the conflict between capital and labour. Economic rational capitalists must make big profits and invest them in labour saving physical capital, making it impossible for an increasing number of economic rational workers to find a job annex income. So an increasing number of people cannot find a decent living in a capitalist society, while a decreasing number of capitalists become extremely wealthy. That’s the big conflict that becomes increasingly manifest.

(5)

a. We define explanation in the following way: behaviour results from the operation of one or a few forces that drive (motivate) people. Change in behaviour can be ‘explained’ by a change in the situation of motivated people. But this is just an immediate cause. Without the force inside people, they would not react upon changes in the situation. Historical trends can only be described – not explained by referring to a force inside individuals.

b. There was a small group in The Netherlands during the seventies, called the “Dolle Mina’s”. They aimed at the development of a social movement that must change Dutch culture – especially with respect to the emancipation of women. Now we can say they were very successful. Almost all women now agree with their statements. They really changed culture and realised a historical trend!

(6)

a. Homans’ law = everywhere a number of people meet each other and have regular face-to-face contact  and perceive each other as equals, they develop a common culture. A common culture means that members of the group share their understanding of the situation, including a set of values and norms that belong to these views.

b. (1) Rita Verdonk – former member of the VVD (liberal party in NL) – organised many small meetings with people who were supposed to have more or less the same views about the Dutch situation. These meetings made it possible to increasingly share these views. Now they start a ‘movement’ to make the group of people larger. (2) People with a degree in econometrics are inclined to meet other econometricians – not economists and other social scientists. By grouping together they increasingly develop a culture that makes clear to the members why their approach is a superior one. So with heterodox economists – they hardly talk with orthodox economists, and are constantly confirming each other of their own superiority. In conferences and Seminars they formulate why they are superior, not whether or not this is true.

(7)

(a) The social force aims at the maximisation of the status in the eyes of relevant others.

(b) Status battles are negative sum games – status gain for one always implies status loss for others. But the battles are very costly in terms of scarce resources; think of all the wars we know from history; they are to be interpreted as status battles to a certain extent. The fear for total destruction arouses moral feelings – we ought to behave differently. Moral rules are developed, which constrain our status battles.

(c) Belligerent rights; rules of the family; rules that establish systems of social welfare. Almost all rules of behaviour have a social aspect – to dampen human rivalry. [The economic and the psychic aspect also play an important role when establishing rules, of course]

(8)

Marriage: benefits: sharing a house is cheaper than not-sharing; living together with a beloved person; not-being alone; costs: lack of privacy; giving up ‘bad’ habits.

Education that is more than just private lessons: benefits: 500 students attending a lecture is cheaper than individual education; cost: lectures are focussed on the representative student, which is a statistical artefact. No one fits the characteristics of this student perfectly well. Benefit: if a large group follows the same programmes they can more easily communicate with each other. 

(9)

a. Rational choice in sociology sketches a social-economic world. So the actors are assumed to be economic, social and rational. Economic = maximisation of utilities by consuming goods; social = we recognise each other as humans, which leads to a series of positive and negative social relationships; rational = actors are well informed about their own true needs and about the satisfaction-generating capacities of the goods that are offered, and have enough will-power to act accordingly.  

b. Rational choice in economics sketches an economic world, where the actors are assumed to be economic, rational and a-social. A-social means that there are no social relationships.

c. A few centuries ago there were many vagrants in Europe who were looking for food and shelter, and hopped from town to town. Many citizens were afraid of them. So local municipalities established heavily monitored work houses, where these people could get a decent living. Of course the wanderers went to the towns that offered them the best ‘facilities’, which made these services too costly. To an increasing extent the rulers of the towns became aware that they had a collective problem. They increasingly met each other and talked about solutions to these social problems. A social process took place [people who perceive each other as equals and meet each other at a regular basis, start to develop a common understanding of their situation and are inclined to develop a common strategy]. This process led to the formation of states and especially of modern welfare states.

(10)

a. If ties between people are of an economic kind, it means that the relationship is based on an exchange of net benefits, where the selves of the people involved in the relationship are not affected. As soon as the relationship is not beneficial for one or for all parties anymore, the relationship comes to an end. Example: if Dutch flower-growers can sell their flowers to the market in Rio de Janeiro against higher prices relative to the market in New York, they do it as soon as their contracts allow them to do. 

b. If ties between people are of a social kind, it means that the relationship is based on an exchange of net benefits, where the selves of the people involved in the relationship are significantly affected. The net benefits are not calculated regularly – they result from an intuition or are even established instinctively. Example: the relationship between brother and sister, between parents and their children, between people of the same ethnicity, or of the same church. These relationships can only break if people do not commit themselves to the common views, values and norms that constitute that particular relationship anymore.  
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